
  

 

 

 السؤال الأول :

 

 

 

 

 

 السؤال الثاني : حوط الإجابة الصحيحة .

 

 

 

 

 

  

 

 3ورقة عمل                                                        

      /  1الصف :                          ............الاسم : ........................................  

 

2 ٨  –  1  =.......... 

 (٧،       ٦،      ٥       ) 

 

٤ 



  

 

 

 السؤال الأول :

 

 

 

 

 

 السؤال الثاني : حوط الإجابة الصحيحة .

 

 

 

 

 

  

 

 3ورقة عمل                                                        

      /  1الصف : الاسم : ....................................................                           

 

2 ٨  –  1  ..........= 

 (٧،       ٦،      ٥       ) 

 

٥ ٤ 


